XXX H¥DKRENE

[ b1k ]
(]
E = hv (30-1)
E = mc? (30-2)
h et
p= (p : HEE) (30-3)
CRL1- D 3 #h: ]
p = % (de Broglie) (30-4)

(30 -1] B m WE v 2BORTOTXALX— E 1T EHZRLX—DOLRICEL->TEHEZ b,
mvZ2,/2 ThHETH, Fi, EHE p X mv THEZLNA,
100 eV DEH=RLF—Z2EHEOBEFOHRE 1 2K L,

(M30-2] B (H&:1.6726231X10 27 kg) ZMEEcHED 99 % £
L7z, ZORETOBTONEE 4 2RDE,

Dk Dz F— L]

2
T = ~ (7 : EE= R LF¥—) (30-5)
2 m
h
Lo e 808
- h (E : &= F/L¥—) (50-7)
[om (E—Vv) 112 (V: RT v ¥ b fX—)
(%]
[T D]
¢ = Asin 2z v (%—t) (30-8)
g:ASiHZZV (%—i— t) (30:9)
LAY, (30-10)

[fI3 0 - 3] fithhlc ¢, WEBNIC x %, F7=, @HNC ¢ , BEEIC x 2L oT, AWM ¢ <o

—RILTOWERINTIHOLELE R X, 77~=/7FL, A=1, »=5, 1=2 Tbhd,
=770, B o 1L, 0 b 0.1 £T, 0.02 AHr&T5,

7597



[ i ]

6 + o (30-11)

<l
I

2A sin (2 7 v

—) cos (2 z v t) (30-12)

[RI30 - 4] Mz ¢ %, BT x 2L-T, UTFIORTHER ¢ TO ¢ OEEHiT,

=77L, A=1, v=5, 1=2 Tbod,

(a) ¢t =0 (b) ¢t = 0.02 (¢) ¢t = 0.04
(d) t = 0.06 (e) t = 0.08 (f) ¢+t = 0.10
[z 8 2]
[—Wor DO H R
926 1 92
— =0 (30-13)
9 x 2 u? 9 t2
(255057 B ]
6 = ®(x) sin <27z% ¢) (@ (x) : BRI ERR) (30-14)
22
dX2<mx)+ P P(x) = 0 (30-15)
[Schrodinger®FEL(%T]
d 871'2111
P(x) + ——— (E—-V) &(x) = 0 (30-16)
d x2 122

D(x) : WFRNTHEBIFR B

[[30- 5] ATy /@iy (V=0) —IRILZEM TORF DI ENFIERO—RED

P(x) = A sin(kx) + B cos(k x) (777 L, k2 =

ThdI L EMEND L,

SrlmE

h? )

7607




